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(x
1 n
)0

=
1 n

x
1 n
�

1

2.
(

np
u
)0

=
(u

1 n
)0

=
1 n
u

1 n
�

1
⇥

u
0

B
ij
ec

ti
on

ré
ci

p
ro

qu
e

d
e

x
7!

x
3

La
fo

nc
ti

on
f

:
x
7!

x
3

es
t

:

⇥
co

nt
in

ue
su

r
R

,

⇥
st

ri
ct

em
en

t
cr

oi
ss

an
te

su
r

R
.

C
’e

st
do

nc
un

e
bi

je
ct

io
n

de
R

su
r

f
(R

)
=

R
.

Fo
rm

el
le

m
en

t,
on

pe
ut

do
nc

dé
fin

ir
sa

bi
je

ct
io

n
ré

ci
pr

oq
ue

f
�

1
su

r
R

to
ut

en
ti

er
.L

a
fo

nc
ti

on
3p

.
dé

fin
ie

pr
éc

éd
em

m
en

t
pe

ut
al

or
s

êt
re

vu
e

co
m

m
e

re
st

ri
ct

io
n

su
r

l’e
ns

em
bl

e
R

+
de

la
fo

nc
ti

on
f
�

1
.

+
P
ar

co
nv

en
ti

on
,
on

dé
fin

it
la

fo
nc

ti
on

3p
.

es
t

dé
fin

ie
su

r
R

+
m

êm
e

si
,p

ar
ap

pl
ic

at
io

n
du

th
éo

rè
m

e
de

la
bi

je
ct

io
n,

on
po

ur
ra

it
dé

fin
ir

la
ré

ci
pr

oq
ue

de
x
7!

x
3

su
r

R
to

ut
en

ti
er

.
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D
ém

on
st

ra
ti
on

.

1)
So

ie
nt

x
2

E
et

y
2

F
.

()
)

Su
pp

os
on

s
y

=
f
(x

).
A

ut
re

m
en

t
di

t,
x

es
t

un
an

té
cé

de
nt

(i
l
es

t
un

iq
ue

pu
is

qu
e

f
es

t
bi

je
ct

iv
e)

de
y

pa
r

f
.

O
r,

pa
r

dé
fin

it
io

n,
f
�

1

as
so

ci
e

à
ch

aq
ue

él
ém

en
t

y
2

F
so

n
un

iq
ue

an
té

cé
de

nt
da

ns
E

pa
r

f
:

c’
es

t
pr

éc
is

ém
en

t
x
.C

el
a

dé
m

on
tr

e
qu

e
f
�

1
(y

)
=

x
.

((
)

Su
pp

os
on

s
x

=
f
�

1
(y

).
P
ar

dé
fin

it
io

n,
f
�

1
(y

)
es

t
l’u

ni
qu

e
an

té
-

cé
de

nt
da

ns
l’e

ns
em

bl
e

E
de

l’é
lé

m
en

t
y

pa
r

la
fo

nc
ti

on
f
.O

n
a

do
nc

y
=

f
(x

).

2)
So

it
y

2
F

.
P
ar

dé
fin

it
io

n,
f
�

1
(y

)
es

t
l’u

ni
qu

e
x

da
ns

E
te

l
qu

e
y

=
f
(x

).
A

in
si

,f
(f

�
1
(y

))
=

f
(x

)
=

y
.

3)
So

it
x

2
E

.
N

ot
on

s
y

=
f
(x

).
O

n
a

do
nc

x
=

f
�

1
(y

)
(d

’a
pr

ès
la

pr
op

ri
ét

é
1)

).
A

in
si

,f
�

1
(f

(x
))

=
f
�

1
(y

)
=

x
.

4)
O

n
do

it
dé

m
on

tr
er

qu
e

:8
v
2

E
,9

!u
2

F
,

v
=

f
�

1
(u

).
So

it
v
2

E
.
D

’a
pr

ès
la

pr
op

ri
ét

é
3)

,
f
�

1
(f

(v
))

=
v
.
A

in
si

,
en

no
ta

nt
u

=
f
(v

),
on

a
bi

en
tr

ou
vé

un
él

ém
en

t
u
2

F
te

l
qu

e
f
�

1
(u

)
=

v
.
Il

re
st

e
à

dé
m

on
tr

er
l’u

ni
ci

té
.S

’il
ex

is
te

t
2

F
te

lq
ue

f
�

1
(t

)
=

v
,a

lo
rs

pa
r

la
pr

op
ri

ét
é

1)
,o

n
a

t
=

f
(v

).
A

in
si

,t
=

f
(v

)
=

u
.

R
em

ar
qu

e
So

it
f

:
E

!
F

un
e

fo
nc

ti
on

bi
je

ct
iv

e
de

E
da

ns
F

et
x
2

E
,

y
2

F
de

ux
él

ém
en

ts
te

ls
qu

e
y

=
f
(x

).
D

’a
pr

ès
la

pr
op

ri
ét

é
1)

,o
n

a
al

or
s

au
ss

i
x

=
f
�

1
(y

).
O

n
a

do
nc

:

⇥
x

es
t

l’a
nt

éc
éd

en
t

de
y

pa
r

f
.

⇥
y

es
t

l’i
m

ag
e

de
x

pa
r

f
.

⇥
x

l’i
m

ag
e

de
y

pa
r

f
�

1
.

⇥
y

es
t

l’a
nt

éc
éd

en
t

de
x

pa
r

f
�

1
.
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V
I.4.

B
O

N
U

S
:
d
éfi

n
ition

d
es

fon
ction

s
racin

es
n

èm
e

V
I.4.a)

V
ia

le
th

éorèm
e

d
e

la
b
ijection

Si
n
2

N
⇤,la

fonction
f

:
x
7!

x
n

est
:

⇥
continue

sur
[0,+

1
[,

⇥
strictem

ent
croissante

sur
[0,+

1
[.

D
’après

le
théorèm

e
de

la
bijection

on
a

donc
:

1)
f

est
une

bijection
de

l’ensem
ble

[0,+
1

[sur
l’ensem

ble
:

f
([0,+

1
[)

=
[f

(0),
lim

x!
+
1

f
(x

)[
=

[0,+
1

[.

2)
f

adm
et

une
bijection

réciproque,
continue

et
strictem

ent
croissante

sur
[0,+

1
[:c’est

la
fonction

racin
e

n
èm

e.

n p
.

:
R

+
!

R
+

x
7!

n p
x

D
e

par
cette

définition,on
a

les
propriétés

suivantes.

1)
8
x
2

R
+
,8

y
2

R
+
,

(y
=

x
n

,
x

=
n p

y
)

2)
8
y
2

R
+
,

(
n p

y
)
n

=
y

3)
8
x
2

R
+
,

n p
(x

n
)

=
x

V
I.4.b

)
V

ia
les

p
u
issan

ces
qu

elcon
qu

es

P
our

n
2

N
⇤,

la
fonction

racine
n

èm
e

peut
aussi

être
définie

com
m

e
un

opérateur
puissance

quelconque.P
lus

précisém
ent

:

n p
.

:
R

+
⇤

!
R

+

x
7!

n p
x

=
x

1n

•
D

ans
ce

cas,la
fonction

racine
n

èm
e

est
définie

seulem
ent

sur
R

+
⇤.O

n
peut

la
prolonger

par
continuité

en
0

en
posant

:
(0)

1n
=

0.
•

C
ette

définition
coïncide

avec
celle

obtenue
par

le
théorèm

e
de

la
bijec-

tion
sur

l’ensem
ble

R
+
.
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I.3.c)
L
e

th
éorèm

e
d
e

la
b
ijection

T
h
éorèm

e
2.

T
héorèm

e
de

la
bijection

Soit
a

et
b

deux
réels

tels
que

a
<

b.
Soit

f
:
[a

,b]!
R

une
fonction

:
⇥

continue
sur

[a
,b].

⇥
strictem

ent
croissante

sur
[a

,b].
O

n
a

alors
:

1)
f

est
une

bijection
de

[a
,b]

sur
[f

(a
),f

(b)].
2)

D
e

plus,
sa

bijection
réciproque

f
�

1
:
[f

(a
),f

(b)]!
[a

,b]
est

:
⇥

continue
sur

[f
(a

),f
(b)].

⇥
strictem

ent
croissante

sur
[f

(a
),f

(b)].

D
ém

onstration.
1)

C
’est

l’énoncé
du

T
V

I
traduit

avec
le

vocabulaire
des

fonctions
bijec-

tives.
2)

O
n

en
reparlera

...

R
em

arqu
e

Les
extensions

précédentes
peuvent

aussiêtre
appliquées

à
ce

théorèm
e

:
on

peutl’écrire
avec

des
intervalles

du
type

[a
,b[,

]a
,b],

]a
,b[;sila

fonction
f

initiale
est

strictem
ent

décroissante,
la

conclusion
sera

alors
la

stricte
décroissance

de
f
�

1.

P
ar

exem
ple

:

Soit
f

:]a
,b]!

R
une

fonction
:

⇥
continue

sur
]a

,b]

⇥
strictem

ent
décroissante

sur
]a

,b]

9>>>=>>>;
)

•
f

est
une

bijection
de

]a
,b]sur

[f
(b),f

(a
)[

•
f
�

1
:
[f

(b),f
(a

)[!
]a

,b]est
:

⇥
continue

sur
[f

(b),f
(a

)[

⇥
strictem

ent
croissante

sur
[f

(b),f
(a

)[
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R
em

ar
qu

e
P
ui

ss
an

ce
en

ti
èr

e
ou

pu
is

sa
nc

e
qu

el
co

nq
ue

?

À
n
2

N
⇤

fix
é,

no
us

av
on

s
de

ux
dé

fin
it

io
ns

po
ur

la
fo

nc
ti

on
x
7!

x
n

:

⇥
la

dé
fin

it
io

n
«

cl
as

si
qu

e
»

:l
a

qu
an

ti
té

x
n

es
t

le
pr

od
ui

t
de

n
qu

an
ti

té
s

x
. A
ve

c
ce

tt
e

dé
fin

it
io

n,
x
7!

x
n

es
t

al
or

s
dé

fin
ie

su
r

R
.

⇥
la

dé
fin

it
io

n
«

pu
is

sa
nc

e
qu

el
co

nq
ue

»
:

la
qu

an
ti

té
x

n
es

t
dé

fin
ie

à
l’a

id
e

de
s

fo
nc

ti
on

s
ex

p
et

ln
co

m
m

e
x

n
=

en
ln

(x
) .

A
ve

c
ce

tt
e

dé
fin

it
io

n,
x
7!

x
n

es
t

al
or

s
dé

fin
ie

su
r

R
+
⇤ .

Il
co

nv
ie

nt
de

re
m

ar
qu

er
qu

e
ce

s
de

ux
dé

fin
it

io
ns

co
ïn

ci
de

nt
su

r
R

+
⇤ .

V
I.
3.

c)
R

ep
ré

se
nt

at
io

n
gr

ap
h
iq

u
e

x

y
↵

>
1

↵
=

1

0
<

↵
<

1

↵
=

0

↵
<

0

E
xe

rc
ic

e
où

l’o
n

dé
m

on
tr
e

qu
e
�

1
=

1
..

.
C

om
m

en
te

r
la

dé
m

on
st

ra
ti

on
su

iv
an

te
.

�
1

=
(�

1)
1

=
(�

1)
2 2

=
((
�

1)
2
)1 2

=
(1

)1 2
=

1
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II
.

Fo
nc

ti
on

va
le

ur
ab

so
lu

e

II
.1

.
D

éfi
n
it

io
n

D
éfi

n
it

io
n

O
n

ap
pe

lle
fo

nc
ti

on
va

le
ur

ab
so

lu
e,

no
té

e
|.

|,
la

fo
nc

ti
on

su
iv

an
te

.

|.
|

:
R

!
R

+

x
7!

|x
|

=

⇢
x

si
x
>

0
�

x
si

x
<

0

R
em

ar
qu

e
•

D
an

s
la

dé
fin

it
io

n,
il

es
t

im
pl

ic
it

e
qu

e
po

ur
to

ut
tr

u
c

él
ém

en
t

de
R

,l
a

qu
an

ti
té

|tr
u
c|

es
t

po
si

ti
ve

.E
n

eff
et

:
⇥

si
tr

u
c
>

0
,|

tr
u
c|

va
ut

tr
u
c,

⇥
si

tr
u
c

<
0
,|

tr
u
c|

va
ut

l’o
pp

os
é

de
tr

u
c,

à
sa

vo
ir
�

tr
u
c

(>
0)

.
•

O
n

a
no

ta
m

m
en

t
le

s
ca

lc
ul

s
su

iv
an

ts
:

1)
|�

5|
=

5
2)

|(x
�

2)
2
|=

(x
�

2
)2

3)
|�

(x
�

2
)2

|=
(x

�
2
)2

E
xe

rc
ic

e.
(v

al
eu

r
ab

so
lu

e)
É

cr
ir

e
sa

ns
va

le
ur

ab
so

lu
e

le
s

qu
an

ti
té

s
su

iv
an

te
s.

a.
|x

2
+

x
�

2|
b.

|x
+

1
|+

|x
+

2
|

c.
|x

2
�

1
|�

|x
2
+

1|
+

|2
x

2
�

x
+

1
|

T
ra

it
on

s
la

qu
es

ti
on

a.

x

Si
gn

e
de

x
2

+
x
�

2

V
al

eu
r

de
|x

2
+

x
�

2|

�
1

�
2

1
+
1

+
0

�
0

+

x
2
+

x
�

2
�

x
2
�

x
+

2
0

x
2
+

x
�

2

O
n

re
ti

en
dr

a
l’i

nt
ér

êt
de

fa
ir

e
un

ta
bl

ea
u

qu
ie

st
un

e
re

pr
és

en
ta

ti
on

lis
ib

le
de

la
si

tu
at

io
n.
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P
rop

riété
de

dérivée

1.
La

fonction
x
7!

x
↵

est
dérivable

sur
R

+
⇤.

8
↵
2

R
,8

x
2

R
+
⇤,

(x
↵
) 0

=
↵

x
↵�

1

2.
Si

u
:R

!
R

est
une

fonction,on
a

:
(u

↵
) 0

=
↵

u
↵�

1⇥
u
0

C
ette

form
ule

est
valable

sur
tout

ensem
ble

E
sur

lequel:

⇥
la

fonction
u

est
strictem

ent
positive

(pour
que

u
↵

soit
définie),

⇥
la

fonction
u

est
dérivable

(pour
que

u
0soit

définie).

D
ém

onstration.

1.
Soit

↵
2

R
.N

otons
f

:
x
7!

x
↵

=
e
↵

ln
(x

)
et

u
(x

)
=

↵
ln

(x
).

La
fonction

f
est

dérivable
sur

tout
ensem

ble
E

sur
lequel:

⇥
u

est
dérivable.

A
insi,

f
est

dérivable
sur

]0,+
1

[.
P
our

tout
x
2

]0,+
1

[,on
a

:

f
0(x

)
=

u
0(x

)
e
u
(x

)
=

↵x
e
↵

ln
(x

)
=

↵
x
↵

x
=

↵
x
↵�

1

2.
C

ette
règle

s’obtient
en

écrivant
:
u
↵

=
e
↵

ln
(u

).

E
xercice

E
nsem

ble
de

dérivabilité
et

calculdes
dérivées

des
fonctions

suivantes.

a.
f

:
x
7!

x
13

b.
g

:
x
7!

(x
2
+

2
x

+
1)

13
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II.2.
P

rop
riétés

P
rop

riété

1.
8
x
2

R
,

|x|>
0

2.
8
x
2

R
,

|x|
=

|�
x|

(ceci
signifie

que
la

fonction
|
.|

est
paire)

3.
8
x
2

R
,

|x|
=

0
)

x
=

0

4.
8
x
2

R
,8

y
2

R
,

|x|
=

|y|
)

x
=

y
O
U

x
=

�
y

5.
8
x
2

R
,8

y
2

R
,

|x
⇥

y|
=

|x|⇥
|y|

6.
8
x
2

R
,8

y
2

R
⇤,

���� xy ����
=

|x|
|y|

7.
In

égalité
trian

gu
laire.

P
our

tout
x
2

R
et

tout
y
2

R
,on

a
:

|x
+

y|6
|x|+

|y|
|x

�
y|6

|x|+
|y|

||x|�
|y||6

|x
�

y|

P
rop

riété
de

dérivée

1)
La

fonction
|
.|est

dérivable
sur

]0,+
1

[.
8
x
2

]0,+
1

[,(|x|) 0
=

1

2)
La

fonction|.|estdérivable
sur

]�
1

,0
[.

8
x
2

]�
1

,0[,(|x|) 0
=

�
1

II.3.
R

ep
résentation

grap
h
iqu

e

x

y
y

=
|x|

y
=

|x
�

2|

y
=

|3x
+

2|

8
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V
I.
3.

P
u
is

sa
n
ce

s
qu

el
co

n
qu

es

V
I.
3.

a)
D

éfi
n
it

io
n

D
éfi

n
it

io
n

P
ou

r
↵

2
R

,
la

fo
nc

ti
on

él
év

at
io

n
à

la
pu

is
sa

nc
e
↵
,

no
té

x
7!

x
↵

es
t

dé
fin

ie
su

r
R

+
⇤

à
l’a

id
e

de
s

fo
nc

ti
on

s
ex

po
ne

nt
ie

lle
et

lo
ga

ri
th

m
e

:

R
+
⇤

!
R

+

x
7!

x
↵

=
e↵

ln
(x

)

V
I.
3.

b
)

P
ro

p
ri

ét
és

P
ro

p
ri

ét
é

im
m

éd
ia

te
s

1.
8↵

2
R

,8
x
2

R
+
⇤ ,

ln
(x

↵
)

=
↵

ln
(x

)

2.
8↵

2
R

,8
x
2

R
+
⇤ ,
8�

2
R

,
x
↵
+
�

=
x
↵
x
�

3.
8↵

2
R

,8
x
2

R
+
⇤ ,
8�

2
R

,
x
↵
�
�

=
x
↵

x
�

4.
8↵

2
R

,8
y
2

R
+
⇤ ,

y
�
↵

=
1 y
↵

5.
8↵

2
R

,8
x
2

R
+
⇤ ,
8y

2
R

+
⇤ ,

(x
y
)↵

=
x
↵
y
↵

6.
8↵

2
R

,8
x
2

R
+
⇤ ,
8�

2
R

,
(x

↵
)�

=
x
↵
�

7.
8↵

2
R

,8
x
2

R
+
⇤ ,
8y

2
R

+
⇤ ,

✓
x y

◆ ↵
=

x
↵

y
↵
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ou

r
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ut
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up
le
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)
2

R
⇥

R
,|
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�

y
|e

st
la

di
st

an
ce

en
tr

e
le

s
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in
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x
et

y
(|x

�
y
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d
(x
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))

,
au

tr
em

en
t

di
t

l’é
ca

rt
en

tr
e

le
po

in
t

x
et

le
po

in
t

y
su

r
la

dr
oi

te
ré

el
le

.

y
x

|x
�

y
|

•
A

in
si

,|
x
|e

st
la

di
st

an
ce

en
tr

e
le

s
po

in
ts

x
et

0
.

A
p
p
li
ca

ti
on

So
it

a
2

R
et

r
>

0
.

•
R

és
ol

ut
io

n
de

|x
�

a
|=

r

Le
s

él
ém

en
ts

x
vé

ri
fia

nt
ce

tt
e

ég
al

it
é

so
nt

le
s

él
ém

en
ts

si
tu

és
à

un
e

di
st

an
ce

r
du

ré
el

a
.
A

ut
re

m
en

t
di

t,
ce

so
nt

le
s

él
ém

en
ts

x
=

a
�

r
et

x
=

a
+

r.

a
a
�

r
a

+
r

r
r

•
R

és
ol

ut
io

n
de

|x
�

a
|6

r

Le
s

él
ém

en
ts

x
vé

ri
fia

nt
ce

tt
e

ég
al

it
é

so
nt

le
s

él
ém

en
ts

si
tu

és
à

un
e

di
st

an
ce

in
fé

ri
eu

re
(o

u
ég

al
e)

à
r

du
ré

el
a
.
A

ut
re

m
en

t
di

t,
ce

so
nt

le
s

él
ém

en
ts

x
de

l’i
nt

er
va

lle
[a

�
r,

a
+

r]
.

a

r
r

a
+

r
a
�

r

•
A

in
si

,o
n

a
:

|x
|6

r
,

�
r
6

x
6

r
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C

E
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2015-2016

V
I.2.c)

R
ep

résentation
grap

h
iqu

e

Les
fonctions

exponentielle
et

logarithm
e

étant
bijections

réciproques
l’une

de
l’autre,la

courbe
représentative

de
la

fonction
exponentielle

est
obtenue

par
sym

étrie
de

la
courbe

représentative
de

la
fonction

ln
par

sym
étrie

d’axe
y

=
x.

x

y

y
=

xy
=

ln
(x

)

y
=

e
x

23

E
C

E
1-B

2015-2016

III.
Fonction

inverse

D
éfi

n
ition

O
n

appelle
la

fonction
inverse

la
fonction

:

1.
:

R
⇤

!
R
⇤

x
7!

1x

D
ans

ce
quisuit,on

notera
f

la
fonction

inverse.O
n

réalise
l’étude

gra-
phique

de
f

à
l’aide

de
la

m
éthodologie

présentée
en

début
de

chapitre.

1)
D

f
=

R
⇤.

2)
8
x
2

R
⇤,

f
0(x

)
=

�
1

x
2

6
0.

3)
C

onstruction
du

tableau
de

variations
de

f.

x

Signe
de

f
0(x

)

V
ariation
de

f

�
1

0
+
1

�
�

00

�
1

+
1

11

4)
Les

lim
ites

sont
affi

chées
dans

le
tableau

de
variation.

5)
L’équation

de
la

tangente
au

point
d’abscisse

a
(i.e.au

point
(a

,f
(a

)))
est

donnée
par

la
form

ule
:

y
=

f
0(a

)(x
�

a
)
+

f
(a

)

O
n

en
déduit

que
:

⇥
la

droite
y

=
�

x
+

2
est

la
tangente

de
la

fonction
au

point
(1,1).

⇥
la

droite
y

=
�

x�
2

est
la

tangente
de

la
fonction

au
point

(�
1
,�

1
).
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P
ro

p
ri

ét
é

im
m

éd
ia

te
s

1.
8x

2
R

,8
n
2

N
,

(e
x
)n

=
en

x

2.
8x

2
R

,
e�

x
=

1 ex
3.

8x
2

R
,
8y

2
R

,
ex

�
y

=
ex ey

P
ro

p
ri

ét
é

de
lim

it
e

1.
li
m

x
!

�
1

ex
=

0
2.

li
m

x
!

+
1

ex
=

+
1

P
ro

p
ri

ét
é

de
dé

ri
vé

e

1.
La

fo
nc

ti
on

ex
p

es
t

dé
ri

va
bl

e
su

r
R

.
8x

2
R

,
(e

x
)0

=
ex

2.
Si

u
:
R

!
R

es
t

un
e

fo
nc

ti
on

,o
n

a
:

(e
u
)0

=
u
0 ⇥

eu

C
et

te
fo

rm
ul

e
es

t
va

la
bl

e
su

r
to

ut
en

se
m

bl
e

E
su

r
le

qu
el

:
⇥

la
fo

nc
ti

on
u

es
t

dé
ri

va
bl

e
(p

ou
r

qu
e

u
0
so

it
dé

fin
ie

).

C
ro

is
sa

n
ce

s
co

m
p
ar

ée
s

•
E

n
+
1

,
la

fo
nc

ti
on

ex
p

a
un

e
cr

oi
ss

an
ce

be
au

co
up

pl
us

fo
rt

e
qu

e
le

s
fo

nc
ti

on
s

pu
is

sa
nc

es
en

ti
èr

es
.
E

n
d’

au
tr

es
te

rm
es

,
po

ur
p
2

N
⇤

et
q
2

N
⇤

:

li
m

x
!

+
1

(e
x
)p

x
q

=
+
1

•
O

n
di

t
au

ss
iq

u’
en

+
1

,l
a

cr
oi

ss
an

ce
ex

po
ne

nt
ie

lle
es

t
pl

us
fo

rt
e

qu
e

la
cr

oi
ss

an
ce

po
ly

no
m

ia
le

.
•

O
n

pe
ut

dé
m

on
tr

er
,à

l’a
id

e
de

la
pr

op
ri

ét
é

pr
éc

éd
en

te
qu

e
:

li
m

x
!

+
1

x
p
(e

�
x
)q

=
0

E
n
�
1

,
ce

tt
e

fo
nc

ti
on

te
nd

au
ss

i
be

au
co

up
pl

us
vi

te
ve

rs
0

qu
e

le
s

fo
nc

ti
on

s
él

év
at

io
n

à
la

pu
is

sa
nc

e
en

ti
èr

e
ne

te
nd

en
t

ve
rs

l’i
nfi

ni
.
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6)
R

ep
ré

se
nt

at
io

n
gr

ap
h
iq

u
e

x

y

y
=

1/
x

R
em

ar
qu

e
P
ar

it
é

et
re

pr
és

en
ta

ti
on

gr
ap

hi
qu

e
..

.

•
P
ar

dé
fin

it
io

n,
on

di
ra

qu
’u

ne
fo

nc
ti

on
f

es
t
im

p
ai

re
si

:

8x
2

D
f
,

f
(�

x
)

=
�

f
(x

)

D
an

s
ce

ca
s,

on
a

al
or

s
l’é

qu
iv

al
en

ce
su

iv
an

te
:

✓
x

f
(x

)

◆
2

C
f

,
✓

�
x

�
f
(x

)

◆
2

C
f

A
in

si
,s

if
es

t
un

e
fo

nc
ti

on
im

pa
ir

e,
sa

co
ur

be
re

pr
és

en
ta

ti
ve

C
f

ad
m

et
le

po
in

t
(0

,0
)

co
m

m
e

ce
nt

re
de

sy
m

ét
ri

e.
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V
I.2.

Fon
ction

exp
on

entielle

V
I.2.a)

D
éfi

n
ition

D
éfi

n
ition

La
fonction

f
:
x
7!

ln
(x

)
est

:

⇥
continue

sur
]0,+

1
[,

⇥
strictem

ent
croissante

sur
]0,+

1
[.

D
’après

le
théorèm

e
de

la
bijection

on
a

donc
:

1)
f

est
une

bijection
de

l’ensem
ble

]0,+
1

[sur
l’ensem

ble
:

f
(]0,+

1
[)

=
]
lim

x!
0
+

f
(x

),
lim

x!
+
1

f
(x

)[
=

]�
1

,+
1

[
=

R

2)
f

adm
et

une
bijection

réciproque,
continue

et
strictem

ent
croissante

sur
]0,+

1
[:c’est

la
fonction

exp
on

entielle.

ex
p

:
R

!
R

+
⇤

x
7!

e
x

D
e

par
cette

définition,on
a

les
propriétés

suivantes.

1)
8
x
2

R
+
⇤,8

y
2

R
,

(y
=

ln
x

,
x

=
e
y)

2)
8
y
2

R
,

ln
(e

y)
=

y
3)

8
x
2

R
+
⇤,

e
ln

(x
)
=

x

V
I.2.b

)
P

rop
riétés

P
rop

riété
fondam

entale

8
x
2

R
,8

y
2

R
,

e
x
+

y
=

e
x⇥

e
y

D
ém

onstration.
Soit

x
2

R
et

y
2

R
.O

n
a

:

e
x
+

y
=

e
x⇥

e
y

,
ln

(e
x
+

y)
=

ln
(e

x⇥
e
y)

,
x

+
y

=
ln

(e
x)

|
{z

}
x

+
ln

(e
y)

|
{z

}
y
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•
P
ar

définition,on
dira

qu’une
fonction

f
est

p
aire

si:

8
x
2

D
f ,

f
(�

x
)

=
f
(x

)

D
ans

ce
cas,on

a
alors

l’équivalence
suivante

:
✓

x
f
(x

)

◆
2

C
f

,
✓

�
x

f
(x

)

◆
2

C
f

A
insi,

si
f

est
une

fonction
paire,

sa
courbe

représentative
C

f
adm

et
l’axe

des
ordonnées

com
m

e
axe

de
sym

étrie.

•
La

fonction
inverse

est
im

paire
puisque

:8
x
2

R
⇤,

1�
x

=
�

1x
.

O
n

en
déduit

que
sa

courbe
représentative

est
sym

étrique
par

rapport
à

l’origine
du

repère
((0,0

)).A
insi,le

tracé
de

C
f

sur
]�

1
,0[se

déduit,
par

sym
étrie,du

tracé
de

C
f

sur
]0,+

1
[.

O
n

réduit
ainsil’étude

de
cette

fonction
à

l’ensem
ble

]0,+
1

[.

IV
.

Fonctions
puissances

entières

IV
.1.

D
éfi

n
ition

D
éfi

n
ition

Fonctions
puissances

(entières)
•

Soient
x

2
R

et
n

2
N
⇤.

La
fonction

élévation
à

la
puissance

n
est

définie
com

m
e

suit.

. n
:

R
!

R

x
7!

x
n

=

n�
1

m
ultiplications

z
}|

{
x
⇥

x
⇥

...⇥
x

•
O

n
peut

aussidéfinir
l’élévation

à
une

puissance
entière

négative.

Si
x
2

R
⇤

et
n
2

N
⇤,la

quantité
x
�

n
est

définie
par

:
x
�

n
=

1x
n

•
P
ar

convention,
l’opérateur

élévation
à

la
puissance

0
est

la
fonction

constante
égale

à
1

:
8
x
2

R
,

x
0

=
1
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ro
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sa

n
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s
co

m
p
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ée
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•
E

n
+
1

,l
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fo
nc

ti
on

ln
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)
ad

m
et

un
e

cr
oi

ss
an

ce
be

au
co

up
pl

us
fa

ib
le

qu
e

le
s

fo
nc

ti
on

s
pu

is
sa

nc
es

en
ti

èr
es

.
E

n
d’

au
tr

es
te

rm
es

,
po

ur
to

ut
en

ti
er

p
2

N
⇤

et
q
2

N
⇤ ,

on
a

:

li
m

x
!

+
1

(l
n
(x

))
p

x
q

=
0

•
O

n
di

t
au

ss
iq

u’
en

+
1

,l
a

cr
oi

ss
an

ce
lo

ga
ri

th
m

iq
ue

es
t

pl
us

fa
ib

le
qu

e
la

cr
oi

ss
an

ce
po

ly
no

m
ia

le
.

•
O

n
pe

ut
dé

m
on

tr
er

,à
l’a

id
e

de
la

pr
op

ri
ét

é
pr

éc
éd

en
te

qu
e

:

li
m

x
!

0
+

x
p

(l
n
(x

))
q

=
0

V
I.
1.

c)
R

ep
ré

se
nt

at
io

n
gr

ap
h
iq

u
e

x

y

y
=

ln
(x

)
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E
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B
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IV
.2

.
P

ro
p
ri

ét
és

P
ro

p
ri

ét
é

1.
8m

2
N

,8
n
2

N
,8

x
2

R
,

x
m

+
n

=
x

n
x

m

2.
8m

2
N

,8
n
2

N
,8

x
2

R
,

x
m

n
=

(x
m

)n

3.
8n

2
N

,8
x
2

R
,

(x
y
)n

=
x

n
y

n

4.
8n

2
N

,8
y
2

R
⇤ ,

y
�

n
=

1 y
n

=

✓
1 y

◆ n

5.
8n

2
N

,8
x
2

R
,8

y
2

R
⇤ ,

✓
x y

◆ n
=

x
n

y
n

P
ro

p
ri

ét
é

de
dé

ri
vé

e
1.

P
ou

r
to

ut
n
2

Z,
on

a
:

⇥
si

n
>

0
,l

a
fo

nc
ti

on
x
7!

x
n

es
t

dé
fin

ie
et

dé
ri

va
bl

e
su

r
R

.

8x
2

R
,

(x
n
)0

=
n
x

n
�

1

⇥
si

n
<

0
,l

a
fo

nc
ti

on
x
7!

x
n

es
t

dé
fin

ie
et

dé
ri

va
bl

e
su

r
R
⇤ .

8x
2

R
⇤ ,

(x
n
)0

=
n
x

n
�

1

(m
êm

e
fo

rm
ul

e,
se

ul
e

l’e
ns

em
bl

e
de

dé
ri

va
bi

lit
é

es
t
m

od
ifi

é)
2.

Si
u

:
R

!
R

es
t

un
e

fo
nc

ti
on

,o
n

a
:

8n
2

Z,
(u

n
)0

=
n
u

n
�

1
⇥

u
0

,!
si

n
2

N
,c

et
te

rè
gl

e
de

dé
ri

va
ti

on
es

t
va

la
bl

e
su

r
to

ut
en

se
m

bl
e

où
la

fo
nc

ti
on

u
es

t
dé

ri
va

bl
e.

,!
si

n
es

t
un

en
ti

er
st

ri
ct

em
en

t
né

ga
ti

f,
ce

tt
e

rè
gl

e
de

dé
ri

va
ti

on
es

t
va

la
bl

e
su

rt
ou

te
ns

em
bl

e
où

la
fo

nc
ti

on
u

es
tn

on
nu

lle
et

dé
ri

va
bl

e.
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E
xercice

Faire
l’étude

graphique
des

fonctions
:

a.
f

:
x
7!

ln
(x

2)
b.

g
:
x
7!

2
ln

(x
)

P
rop

riété
de

dérivée

1.
La

fonction
ln

(.)estdérivable
sur

]0,+
1

[.
8
x
2

R
+
⇤,

(ln
(x

)) 0
=

1x

2.
Si

u
:R

!
R

est
une

fonction,on
a

:
(ln

u
) 0

=
u
0u

C
ette

form
ule

est
valable

sur
tout

ensem
ble

E
sur

lequel:

⇥
la

fonction
u

est
strictem

ent
positive

(pour
que

ln
(u

)
soit

définie),

⇥
la

fonction
u

est
dérivable

(pour
que

u
0soit

définie),

⇥
la

fonction
u

ne
s’annule

pas
(pour

que
1u

soit
définie).

E
xercice

E
nsem

ble
de

dérivabilité
et

calculdes
dérivées

des
fonctions

suivantes.
a.

f
:
x
7!

ln
(x

2�
2)

b.
g

:
x
7!

ln
( p

(x
2
+

2)
5)

P
rop

riété
de

lim
ite

1.
lim

x!
0
+

ln
(x

)
=

�
1

2.
lim

x!
+
1

ln
(x

)
=

+
1

E
xercice

M
ontrer

(dans
cet

ordre!)
les

propriétés
suivantes.

1)
8
x
2

R
+
⇤,ln

(x
)6

x

2)
8
x
2

R
+
⇤,ln

(x
)6

2 p
x

3)
lim

x!
+
1

ln
(x

)

x
=

0

4)
lim

x!
0
+

x
ln

(x
)

=
0
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E
xercice

E
nsem

ble
de

dérivabilité
et

calculdes
dérivées

des
fonctions

suivantes.

a.
f

:
x
7!

(5x
2
+

2
x

+
7)

3
b.

g
:
x
7!

1

3
x

2
+

5

É
tu

d
e

p
ou

r
les

p
etites

valeu
rs

d
e

n

•
Si

n
=

2
:

la
fonction

x
7!

x
2

est
paire,

strictem
ent

décroissante
sur

R
�
,strictem

ent
croissante

sur
R

+
.

•
Si

n
=

3
:la

fonction
x
7!

x
3

est
im

paire,strictem
ent

croissante
sur

R
.

IV
.3.

R
ep

résentation
grap

h
iqu

e

x

y

n
pair

n
>

0
x

y

n
pair

n
<

0

x

y

n
im

pair

n
>

0
x

y

n
im

pair

n
<

0
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V
I.
1.

b
)

P
ro

p
ri

ét
és

P
ro

p
ri

ét
é

fo
nd

am
en

ta
le

8x
2

R
+
⇤ ,
8y

2
R

+
⇤ ,

ln
(x

y
)

=
ln

(x
)
+

ln
(y

)

D
ém

on
st

ra
ti
on

.
So

it
y
2

R
+
⇤ .

O
n

co
ns

id
èr

e
la

fo
nc

ti
on

'
:
x
7!

ln
(y

x
)
�

ln
(x

)
�

ln
(y

).
E

lle
es

t
dé

fin
ie

su
r

R
+
⇤

et
dé

ri
va

bl
e

su
r

ce
t

en
se

m
bl

e.
So

it
x
2

R
+
⇤ .

'
0 (
x
)

=
y y
x
�

1 x
=

0

C
ec

id
ém

on
tr

e
qu

e
la

fo
nc

ti
on

'
es

t
co

ns
ta

nt
e

su
r

]0
,+

1
[.

E
nfi

n,
on

a
:'

(1
)

=
ln

(y
)
�

ln
(1

)
�

ln
(y

)
=

ln
(1

)
=

0
.

O
n

en
dé

du
it

qu
e

:8
x
2

R
+
⇤ ,

'
(x

)
=

0,
ce

qu
id

ém
on

tr
e

la
pr

op
ri

ét
é.

�
Il

fa
ut

fa
ir

e
at

te
nt

io
n

au
x

en
se

m
bl

es
de

dé
fin

it
io

ns
de

s
pr

op
ri

ét
és

.

•
P
ar

ex
em

pl
e,

on
a

:
ln

((
�

3)
⇥

(�
5)

)
6=

ln
(�

3)
|
{z

}
no

n
dé

f.

+
ln

(�
5)

|
{z

}
no

n
dé

f.
•

P
ar

co
nt

re
,(
�

3)
⇥

(�
5)

=
3
⇥

5.

O
n

a
do

nc
:

ln
((
�

3)
⇥

(�
5)

)
=

ln
(3

)
+

ln
(5

)

P
ro

p
ri

ét
é

im
m

éd
ia

te
s

1.
8x

2
R

+
⇤ ,
8n

2
N

,
ln

(x
n
)

=
n

ln
(x

)

2.
8x

2
R

+
⇤ ,

ln

✓
1 x

◆
=

�
ln

(x
)

3.
8x

2
R

+
⇤ ,
8y

2
R

+
⇤ ,

ln

✓
x y

◆
=

ln
(x

)
�

ln
(y

)
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V
.

Fo
nc

ti
on

ra
ci

ne
ca

rr
ée

V
.1

.
D

éfi
n
it

io
n

D
éfi

n
it

io
n

La
fo

nc
ti

on
f

:
x
7!

x
2

es
t

:
⇥

co
nt

in
ue

su
r

[0
,+

1
[,

⇥
st

ri
ct

em
en

t
cr

oi
ss

an
te

su
r

[0
,+

1
[.

D
’a

pr
ès

le
th

éo
rè

m
e

de
la

bi
je

ct
io

n
on

a
do

nc
:

1)
f

es
t

un
e

bi
je

ct
io

n
de

l’e
ns

em
bl

e
[0

,+
1

[
su

r
l’e

ns
em

bl
e

:

f
([

0,
+
1

[)
=

[f
(0

),
li
m

x
!

+
1

f
(x

)[
=

[0
,+

1
[.

2)
f

ad
m

et
un

e
bi

je
ct

io
n

ré
ci

pr
oq

ue
,
co

nt
in

ue
et

st
ri

ct
em

en
t

cr
oi

ss
an

te
su

r
[0

,+
1

[
:c

’e
st

la
fo

nc
ti

on
ra

ci
n
e

ca
rr

ée
.

p
.

:
R

+
!

R
+

x
7!

p
x

D
e

pa
r

ce
tt

e
dé

fin
it

io
n,

on
a

le
s

pr
op

ri
ét

és
su

iv
an

te
s.

1)
8x

2
R

+
,8

y
2

R
+
,

(y
=

x
2

,
x

=
p

t)

2)
8y

2
R

+
,

(p
y
)2

=
y

3)
8x

2
R

+
,

p
(x

2
)

=
x

V
.2

.
P

ro
p
ri

ét
é

P
ro

p
ri

ét
é

1.
8x

2
R

+
,8

y
2

R
+
,
p

x
y

=
p

x
⇥

p
y

2.
8x

2
R

+
,8

y
2

R
+
⇤ ,

r
x y

=

p
x

p
y

3.

8x
2

R
,
p

x
2

=
|x

|
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P
arenth

èse
:retour

sur
la

fonction
inverse

O
n

peut
aussiappliquer

le
théorèm

e
de

la
bijection

à
la

fonction
f

:
x
7!

1x .

⇥
f

est
continue

sur
]0,+

1
[,

⇥
f

est
strictem

ent
décroissante

sur
]0,+

1
[,

D
’après

le
théorèm

e
de

la
bijection,on

a
donc

:

1)
f

est
bijection

de
l’ensem

ble
]0,+

1
[sur

l’ensem
ble

:
f
(]0,+

1
[)

=
]

lim
x!

+
1

f
(x

),
lim

x!
0
+

f
(x

)[
=

]0,+
1

[.

2)
Sa

bijection
réciproque

f
�

1
:]0

,+
1

[!
]0,+

1
[,

continue
et

stricte-
m

ent
décroissante

n’est
rien

d’autre
qu’elle

m
êm

e!O
n

a
en

effet
:

8
x
2

R
+
⇤,

1/
(1/x

)
=

x

A
insi,

C
f

adm
et

la
droite

y
=

x
com

m
e

axe
de

sym
étrie

et
on

aurait
pu

lim
iter

l’étude
de

la
fonction

inverse
à

l’intervalle
]0,+

1
[.

V
I.

Fonctions
logarithm

e
et

exp
onentielle

V
I.1.

Fon
ction

logarith
m

e

V
I.1.a)

D
éfi

n
ition

D
éfi

n
ition

•
La

fonction
logarith

m
e

n
ép

érien
,notée

ln
(.)

est
la

prim
itive

surR
+
⇤

quis’annule
en

1
de

la
fonction

inverse.

•
A

utrem
ent

dit,c’est
la

fonction
définie

par
:

(
ln

(1)
=

0

8
x
2

R
+
⇤,

(ln
(x

)) 0
=

1x
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P
rop

riété
de

dérivée

1.
La

fonction p
.estdérivable

sur
]0,+

1
[.

8
x
2

]0,+
1

[,
( p

x
) 0

=
1

2 p
x

2.
Si

u
:R

!
R

est
une

fonction,on
a

:
( p

u
) 0

=
u
0

2 p
u

C
ette

form
ule

est
valable

sur
tout

ensem
ble

E
sur

lequel:

⇥
la

fonction
u

est
positive

(pour
que

p
u

soit
définie),

⇥
la

fonction
u

est
dérivable

(pour
que

u
0soit

définie),

⇥
la

fonction
u

ne
s’annule

pas
(pour

que
1pu

soit
définie).

E
xercice

E
nsem

ble
de

dérivabilité
et

calculdes
dérivées

des
fonctions

suivantes.
a.

f
:
x
7!

p
x

2�
2

b.
g

:
x
7!

p
(x

2
+

2)
5

V
.3.

R
ep

résentation
grap

h
iqu

e

O
n

obtient
la

courbe
de

la
fonction

p
.par

sym
étrie

de
la

courbe
élévation

au
carré

par
rapport

à
la

droite
y

=
x.

x

y
y

=
x

y
=

x
2

y
=

p
x
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